ERRKRDHES

ERT—IN—2IBISH—F

2023578388 (+) 2@&EE3H

5R BEYY

N=F4N
JEET

Giilac)

] MHin

EEE=CIEE

12000 R

[AE$] 1 7%:7,200,000 F  23#&:2,90,000H / 3&:

1,800,000 F 4 7&:

1,100,000 3 5 j& : 720,000

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
AR 2 | HE 1:09.3 2-2 34.0| 80.2 | 6 06 | EKIEBEAN (FER)
19| FINTA 55.0 =) o | s
RUTZIWAT4=)b B:RFILFT TEHKS
. = HELLESE :09. = . . FipNGEESE))
256 RS /ESU B2 B 1?19)5 1-1 343 77.8 | 1 ztif; Elsf’c‘#g
RiEwI7—H— B:NU—R TR
o ~ B2 | EAARKE 1:09.8 3-3 34.4| 746 | 2 460 | LRIGHC (555)
30y s | ETVY A53.0 A 3/4) (—) |BEEE
—UR BY—ARXFrVS FoIEFIRXT7—L
=, 2 ~ t 2 | C. IbX=)b 1:10.5 6-6 34.8| 67.1 | 4 448 | RZ=EMUER ()
4 3| TEWIADF v ! 55.0 @) (-) | PPL=FaL—yv7
RINARTA—U7 B:YIUFYTU—R J=HYT7—L
5 =~ B2 | FIAHER 1:10.5 3-4 35.0] 67.2 | 8 | 394 |HMERSE EH)
s5i711¥79o€/3507F 55.0 (\F) (—) |BINET
RIXIVIATFqwIDAUT— B:FZVTUAIL aO%%
~35 _ s 2 | SHEA 1:10.7 12-12 |34.3|65.2 | 3 | 42 |BERN ER)
61111|FLYITIY 55.0 A 1/4) =) en=
RRVTFY BiAT—H—FLVY J—HUTr—L
- st 2 | BHER 1:10.7 8-8 34.8| 65.0 | 5 | 440 |BAEX (KH)
vd 1 EXREZZA% 55.0 &P ) @) 9—7 - 2k—h
R 7)1,74/ B:LyRIL (SRS
— R 4 2 | REER 1:11.0 6-6 35.3| 622 | 7 460 | PHEE ER)
8|8[12|O—FRAITK 55.0 (1 3/8) (o) | @) o-Fr—2057
R:O0—RAF07 §:T45FIWT«7 TATAT7—L
N s 2 | BHEE 1:11.2 10-10  [35.0[ 59.9 | 9 | 414 |HEEREG R
9|5|7 g/ /UvF 55.0 (1 1/4) (-) |EHE=E
RibwFO—ILR B:YyvIT7A(9— e
5 . — J\PRESR 1. - . . NVsLLIE (GE)
10l 2 | K=o eR—=— #2020 s R el R B Bhe bt =
RYRYRA =L B:ESRINYE— AM—LT7—LI—RU—Y 3
Sy 42 | MDA 1:11.6 3-4 36.2| 57.0 | 11 | 456 |/\ERREB ()
1{z|10 E¥1—-LA 5.0 (1 1/4) ) | RS
R:T—IFYUIVFS BUIRIVEYa1— YIRIVT7—L
i 2 | WHEET 1:11.7 12-13  [35.3| 55.0 | 12 | 462 |®E&FEL (55)
108 4 | VIT7T47 L i 55.0 (/2) (—) |TEEE
R:O03914F &SI« AH IS
< - B 1. - . . GEES R ESE)]
131813 Y29\ A /3N AR 77 I R e A B | v
RU—FHISHY B:R—TFIVE BEs
[ BN
Eh' 45.8-34.1
NOVIA LA | 12.2-11.3-11.7-11.6-11.1-11.4
@ 11— —BBIEfI
13—7+—
20—7F—
BEI=r= (*6,9) (8,11,10) (3,12) (5,13) (2,7) (1,4)
43—F— 6,9,8(11,10) (3,12)5,13(2,7)-1,4
o ILRE
B B 9 1,220M AR 6-9 520/ 3= 5-6 480M4 3EE 6-8-9 1,760M3
g B 9 250 8-9 680 5 & 6-9 1,350H4 3EH 9-6-8 14,820
6 120/ 6-8 270 =51 9-6 3,220/
8 150M4
RBICOVTIFUTERERERDDDE, THRLEETL




